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"% & ---" is used to indicate that the outcome remains unchanged regardless of the

conditions or circumstances.
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"kE ¥ ---" is used to indicate that as one thing changes, another thing also changes.

It is often used to describe changes in time, environment, technology, etc.
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"® &, ---, #=0, ---"isused to list things in order, explaining the most important

first and then adding other relevant points. Commonly seen in speeches, writing,

and explanations.
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".ee s H 3 ..." is used to emphasize that something exceeds the usual level,
reaching an unexpected situation. Commonly used for exaggeration or to intensify
a description.
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"¥t--- K" expresses the perspective of an individual or group, emphasizing their
view or feeling about something. Commonly used in personal opinions or
experience sharing.
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"4 2 .--" is used to summarize previously mentioned content, encapsulating the

main points or conclusions. Often used in summary speech or writing.
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"..., F]pt---"isused to connect sentences, indicating that because of the previous
statement, the following result occurs. Commonly used to explain cause-and-effect

relationships.
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Instructions: Please read the passage and answer the questions based on the content.
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Instructions: Choose the most suitable word to fill in the blank based on the sentence content.
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Instructions: Based on the introduction, rearrange the paragraphs below into the correct order to

<2

form a complete article.
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Instructions: Based on the context, use the appropriate grammar points to complete the dialogue
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Instructions: Based on the following scenarios, respond to the questions or describe your thoughts

using complete sentences.
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